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Percents - missing number questions

Grade 6 Percents Worksheet

Find the missing number (e.g. 10% of 50 = 5)

L 67% of 50 = 2 of 50 = 23
% 76% of 90 = 4 14% of = 0.42
5. of 60 = 23.4 5 3206 of = 3.2
7 76% of = 3.04 . 61% of 8=
% 41% of 70 = 10 89% of 60 =
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Percents - missing number questions

Grade 6 Percents Worksheet

Find the missing number (e.g. 10% of 50 = 5)

L 67% of 50 = 33.5 2 46% of 50 = 23
3. 76% of 90 = 68.4 4 14% of 3 = 0.42
5. 39% of 60 = 23.4 5. 320 of 10 = 3.2
7 76% of 4 = 3.04 5 61% of 8 = 4.88
% 41% of 70 = 28.7 10 89% of 60 = 53.4
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